
Chapter 9 & 11 review

Name(s)___________________________________

Solve the equation or inequality.

1)     |2x + 3| + 7 = 9

2)      |8t + 5| = -8

3)      |x - 3| = |8 - x|

4) 9x + 18
2

= 9

5)      x 4 and x -1

6) x 2 or x -2

7)      |3x + 6| 2

8)      |x + 1| - 3 < 5

9)      |7k - 5| > -7

10) -5 2x - 5
2

< 6

Solve the equation.

11)      (x + 5)2 = 14

12)      m2 + m + 4 = 0
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13) y2 - 3y = 2

14) 7
x - 5

+
x

x + 5
=

42
x2 - 25

15) x5 + 4x4 = x + 4

16) (x + 5)2 + 7(x + 5) + 10 = 0

Solve the equation by completing the square.

17)      x2 + 12x = -26

18) 16a2 + 1 = 5a

Use the discriminant to determine the number and type of
solutions of the equation.

19) x2 - 3x + 4 = 0

20)      x2 - 2x + 1 = 0

Graph the function. Find the vertex.
21)    f(x) = 5x2

22)    G(x) = 3(x - 3)2 - 1

Graph the function. Find the vertex,
y-intercept, and x-intercepts (if any).

23)    h(x) = x2 - 8x + 16
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Answer Key
Testname: FRCC_11.5_9.2REVWKS

1) -
1
2

, - 5
2

2)

3) 11
2

4) -4, 0
5) [4, )
6) [-2, )

7) - , - 8
3

-
4
3

, 

8) (-9, 7)
9) (- , )

10) -
5
2

, 17
2

11) -5 - 14, -5 + 14

12)
-1 - i 15

2
, -1 + i 15

2

13)
3 + 17

2
, 3 - 17

2
14) -1 - 2 2, -1 + 2 2
15) -1, 1, -i, i, -4
16) -10, -7
17) -6 - 10, -6 + 10

18)
5 - i 39

32
, 5 + i 39

32
19) two complex but not real solutions
20) one real solution
21) vertex: (0, 0)
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Answer Key
Testname: FRCC_11.5_9.2REVWKS

22) vertex: (3, -1)

23) vertex: (4, 0)
x-intercept: (4, 0), y-intercept: (0, 16)
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